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If you prepare these MCQs then Insha Allah Confirm your 12 /12 marks.

—d A2/ 12 STl S s 4 T

| > You have four choices for each objective type question as A, B, C and D. The choice :

which you think is correct.

How many bronchi are there in the air passageway? e ndbn L pe Lin
None U 45 D Many < & G Two s B v/ One (| A
Stomata are frequently present in: WL s Fnl e
L ' f U ide of
A stem Both sides of a leaf it ppersiaeate
D C leaf B leaf A
LR J:JI)IQJ"}JJZ- :
i s (Ll v
Which gas is absorbed through stomata of plants during night? ?%a-”f*-:-‘j?u’f F s c—i/J s s Ll
Hydrogen Nitrogen Oxygen Carbon dioxide
D " L > B : A
P P f b STV ATk
Where does the gaseous exchange occur in humans? Q@ ?%rﬁuJJ;pKuJ W0

Alveoli Ju;j},l v D Bronchi 3¢ C ¢.. hea Lf/ B Pharynx JC Y- Al
1'?

Which type of blood vessels present around the @ Stszy Pl IS Lusk

Veins #: Arteriole Jv @ Capillary d/kf/ B Artery § .1 ¢ A |4
Which structure helps in taking ai @ ngs? Y basa SIS SER IR Y
Diaphragm chiole Bronchus Nasal cavity !

. ; B , , A

1AL ;fu J:u; VL7
The muscles of rubs are called: U L
Costal muscles Intercostals muscles Cardiac muscles Smooth muscles
5 D " C B
P I Yamlik HF h

Length of a trachea is: =+Jﬂ&j§1 iy

18 cm D 16 cm C 14 cm B 12cm ¢ A
The respiratory centre is present in: e blobl Lﬁ/”':La..’J
Lungs ui'u:;gﬁ (74 D Brain J“{Ls C Nose J* St B Muscles 4+ A

f g/fgu’fffufmdué_xa;u/;y;ﬁuuua_/.ﬁ/:;{-: D408

During expiration in humans, the temperature o
oxygen in the expired air is:

:..:;.l':':f I
25, D 220C C 21C v/ B 16°C A |-
The gaseous exchange in mammals or cow is occured: :;.m.h%urf SEM |

Alveoli Jug,},l v D Pharynx J"/ Y- & Trachea y:./} B Bronchi 3¢ A

Larynx is a box which is made of: e b sntz S i::g-u/ Ew..f’uj 7
Muscles » D Adipose JjJ4! C Cartilage Cy.:i{ v B Bone $4 A
The box which produces sound is called: ?U.?TJ/JB-J—UL;'%J’!T

Al
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Larynx u; AV D Alveoli JU;{:},! C Bronchi (¢~ B Trachea _g»f} A
A muscular way which is common for food and air is called: :g.ruf(a;;._f}"/‘ﬂi Livessl Sup 224,52 L]
Pharynx JC 2V D Larynx u’f / G Alveoli Jug;},l B Trachea .L(f} A
Air enters after larynx: o@ pakcity.org %n :‘L&xd‘.’u,«ﬂiujﬁjm
Bronchi 3¢ D Trachea L ¢/ C Esophagus JG + B Pharynx u’( 2 A
The hole present on the surface of pharynx is called: ={_L"Méifr’:£f”z;j)£aff/f
Trachea (£ D Glottis /' v/ L Nostrils J 4t B Larynx u’( - A
The rate of breathing during exercise or other hard ShimLL gl bete pokom LS Tt od
physical work is: :‘,_L‘;ﬁ@;d’&
40-50 times per 30-40 times per 20-30 times per 10-20 times per
minute D minute C minute B minute A
2(340-50 v 2(330-40 <(320-30 2(310-20
Percentage of carbon dioxide in expelled air is: e Qe 5+ S 2AST S5 b s
0.07 D 0.08 L 0.05 B 0.04 v A
Glottis is the opening of: e Bk &L ....... ¥
Epiglottis £ D Trachea W C Larynx J° 2 B Pharynx*Zv A
The glottis is guarded by a flap of tissue called: oS fe; LVMYLJ&JLLUJL%JWJQ"LK 3
Epiglottis /' ¥¢./ ¢v/ D Bronchi (¢ C g %lSD:tis uJ 14 B Trachea lf/ A
All the alveoli of one side combine to form: ,/%:7;0 = b S I3k B L
Liver £ D Testes +* ,;0\\9 c Kidney»/ B Lunge#%¢v A
How many pairs of ribs are present m@lé &hest wall of WA T N W AALE
humans? ﬁ\\&)\/
Jr16 D ‘\ »214 C ol V12 B J210 A
Q}/

The iclhlé:k muscular structure that is present below the lungs :;_t‘ik"/a.t‘btt“iéuﬁﬁgﬁﬁ/}’jpﬁ'fwg
is called: " T

Abdomen Pleural membrane Thora Diaphragm
D € . B : A
3kl LA Jirk X = AL W
A thick muscular layer beneath the lungs is called: =§-JMJ/’C’JV~{'J':L?Jg§;£w%§
Kidney il D Diaphragm i/l ¢/ C Bladder .44 B Ureter .4 A
Main role to give out air from lungs is: ?eg/ﬂuﬂigﬁvﬂawﬁgﬂvdw’/
Diaphragm Bronchiole Bronchus Nasel cavity
; D C . B , A
U401 4 Jof s u’r 1y G J%
No. of Bronchi in the air passage way are: maﬁémﬁfu::- AT
None of these (& }f D Many « & G Two » ¢ B One £ A

A disease involving the breakdown of air sacs of the lungs is called: =u3Lte¢ﬁu’?,é'l£u%ﬁ{wu’*ds@w

Emphysema ls'éé ¢/ D Asthma -.» C Bronchitis /“¢s» B  Pneumonia ¥ A
Inflammation of bronchi or bronchioles is called: 14‘:-3%'/@9"\;?):(:41-,&5’34
Cough & D Bronchitis /*¢s.¢ C  Pneumonialts B Flu A
Every year world tobacco day is celebrated on: :;.rggtw%ftﬁ Ll s
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1st May 1 & D 31stMay31§ ¢ C 25thMay25% B 15thMay1l5§% A
}/Xrl:;zl; disease is involved in the breakdown of air sacks of the ?uziwiu’?/frufu%-‘f‘-{uiwwwf
Emphysema ¢4 ¢/ D Asthma -.» C Bronchitis /“¢s, B Pneumonia t» A
The walls of the alveoli are broken down in the disease named: :g-wd!g;c:-esd/dfmﬁu{ﬂxﬁd/gU;,’:.L.l
Asthma Pneumonia Emphysema Bronchitis
D ; C . B o A
e Ly LS B
Which disease is caused by streptococcus Pneumoniae? e dnllel i e ot Qs
Asthma Pneumonia Emphysema Bronchitis
D : L ; B b A
) Ly L 55 vl 12

Howkrr}?any numbers of carcinogens are present in the cigarette ?u.?i-l??_,t,d.“"ifﬂzuﬁuffﬁéq/’
SmMoKe: ;

At least 60 At least 50 At least 40 At least 30
b D ~ C B - A
pwe el v Aot A
Total chemicals in tobacco smoke are: :wlﬂﬁuﬁd/ﬁl;ﬁ
Over 4000 Over 3000 Over 2000 Over 1000
D C B A
v _£4000 3000 —£2000 —£1000
Waste materials that are removed by rubber plant are: Ll ey L sune KL
Resins 7=z D Latex g@ v C Mucilig’;éb?f B Gums ; A
The plants which are completely or partially | Qi\ O&/ BB e SRt b ST s
submerged in fresh water are called: X e S) ; s ;
Epiphytes Halophytes (>  Xerophytes Hydrophytes
sr D st rQ\j L‘ bt B bt A
adilt ik NS P B U b,
a(f :
Sea grasses are: ~ G\f‘ ZRYL A i

&
Epiphytes uf‘fb'qgl D Hg\lﬁpﬂ,&es U s/ C Xerophytes o 6,5 B Succulent ..-*-.:-ju..f’ A

Q™ .
Which plants have succulent organs? ?qer@gga:f:?uﬁaﬁgauf I
Halophytes Xerophytes Mesophytes Hydrophytes
& D ks C b B b’
U bk Vel 108 4 Val 1% U Bk

The process of guttation occurs in the plant: =‘Lfﬁ$uu§d%f@“’*"/

Rubber plant by¢%, D Keekar £~ C Grass U v/ B Pine .+~ A
Excretion o_f water thrf)ugh special pores present :LQMJ"}QJ&&c-ufu?wu"lé:ﬁfaww/é:u:% i
at the margin of leaves is called: ‘ * ; i

Sublimation Transpiration Guttation Evaporation
& D & . C & o B & A
g JRIII u’*'/&/ 12

Resins, as waste material, is excreted from: RSOV IV L sl#

Rubber % D Kikar £ C Tomato B  Conifers 0/ v A
Which plant excretes latex? ?r-g-i:‘/ L% bejlfuf :

Tomato D Rubber plant g6z, ¢ C Conifers & B Keekar £~ A

The waste material excreted in rubber plant is: e (Dol sz 99 L2

Mucilage Z’,‘!f P D Resins 7. G Latex J@ v B Gums / A
The waste material excreted from carnivores and lady finger is: e ol e S35 42 ﬂ!uugﬁimc}-zb/
|
|||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| =)
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Mucilage c‘.f—-/:;‘ v D Resins 7. Latex uﬂ B Gumsyf A
The roots of these plants is very strong: a%pakcnty org %‘3 bl Fengzdung
Mesophytes Halophytes Xerophytes Hydrophytes
b D b C B b’
JZ b J“f{,,&f ﬁb:{} v U bk
Which of the following maintains the body temperature? e b Al ESV)Y. j-/:‘ 5'(/?
Lungs 2% D Skin 4 ¢/ C  Kidneys—:/ B Ear o¢ A
The internal temperature of human body is: =§~Vﬁ¢117eﬁﬁdsiﬁ'ﬁfﬁ&u'
57°C D 470C B 37°C v B 27°C A
The excretion of waste materials form body is called: ‘=§-E‘U¢r61ﬁ'?u»t¢-fc:—f)'
Thermoregulation Osmoregulation Respiration Excretion
&) 7 v D &) 7 C & B & i A
c)’:’:g..:f/ d"f’)gjfjl ﬁ/:.fij f/éii v
Which woulc} not be present in the filtrate entering AN TETE A  VaN
the Bowman'’s capsule of nephron?
Urea Blood cells Calcium ions Water
D C IR, B . A
L K T 3
Which organ is responsible for filtering the blood? et s 36 TP S #
Kidney ) D Stomach s+ s Brain s B Intestine /v A
Body balance of water, salts, temperature and glucose is ff%\ Lt'Mc)Jl?uﬁ()'K}/:gn%/;jmlﬁf&L
termed as: *‘Q ») : il
Re absorption Homeostasis Tl;iﬂ.l@ secretlon Excretion
A D o B F A
el eV f\?\“&;\ O ye s &/ql

As per no_rmal chemical composition the arg%ajf water in :r_meJJguf._:ﬁggﬁﬁJJﬁwt
the urine is: 2 ; s :

0.95 v D 0.8 2N C 0.7 B 0.6 A
}/lvehr:lcel}) is absorbed in a tubule\ down from loop of ?+J?inygﬁw’/ddtéleéd/&j_ﬁ¢?
/\-.\\
Urea |y D Q/ Water &L: v & Glucose ;5% B Salts =& A
Functional unit of kidney is called: :;;_J%Jﬁ@&_;f
Ureter Loop of henle Nephron Glomerulus
D r G B y A
fsd &“JIT:’ Ol UJ:/:‘:K
In an adult man the average urine formation in a day is: =+JlﬁJ7¢;;u¢w;~§'u¢ut—7!39uQ
3 liter 3 / D 14liter14/v C 1.3 liter 1.3/ B 4 liter 4 / A
Human urinary system consists of: :‘a.t‘ﬂyf"/dﬁ.«ggul,ﬁl
All of these Urinary bladder Ureter Kidneys
D C B A
(’Vu 4 J,;;Ld/:;gf y I r.’_.!f
The length of each kidney is: e Ondddesr s
27 cm 2 D 4 cm C 5 cm B 10 cm ¢/ A |
Weight of human kidney is approximately: e brisk y K /LU
120g ¢/ D 60 g C 127 g B 27 g A
Renal pelvis is a part of: e 2> LI W S
Kidneys §Us./ ¢/ D Heart ¢Us C Lungs KU 2% B Testes 742" A
How many nephrons are present in each kidney? L S s S,
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I-
Over 1.5 millions

150 7

Over two millions
il P

The average life for donated kidney is:

15 to 20 years D 10tol5years ¢ C
Who is the writer of Encyclopedia “Al-Tasrif”?
Aristotle Jabir-bin-Hayan
D . C
Pl Uizl

Processes that carry nerve impulses away from the
cell body are called:

Myelin Sheath Synapses

rede
Apart from hearing, what other major body

function is performed by the ear?
Reduction in nerve

D

All of these
) D pressure C
i JJ}?.{_{,)J)
Which type of coordination is found in plants?
Electrical Nervous
coordination D coordination C
SELEs Y SELIEN

How many numbers of components are involved in
coordinated action?

Specific organs, tissues or cells of the body that
intercept the stimuli:

Dendrites U~ 13 D Coordinators ;<4574 C

Action performed by effectors is:

Involuntary § sl Voluntary (s

D L

In neuron, nucleus is present in:

Over one million

Over 0.5 millions

P v 0.5 ¥ -
:é_(}ﬁfﬁf:ld/g:jzémﬁf
5to 10 years B 1to 5 years A
se 1 AU

Al-Farabi Abu-Al-Qasim
AL eIV .

U bdme WS 12 E I LA

Dendrites Axons
b = A
OaldVy s AV

?uj“e.;(@’l/f(?lvc)f;}lK(;'UKMU&L&

H
Body balance orm(.me
i () o B secretion A
KA "
w/?wug
fe Qe LT S U Uy
Mechanical chemical
coordination B coordination A
""ul((f"{ ““Jﬂ[ug v
XS

O YNV P T ¢

. A\\k G -
Seven =\ D Five &\ v/ ((;?\“\ .2) Three 2 B Two 1 A
g ; Jiai = = P R
A coordinated action ends at: fﬁgy e ﬁfjd'guf-uf
Effectors J j'@'l D Coordmat \ﬁ?f.mf C Response /= ¢/ B Stimulus s~ A
\& .
Which organs act as a coordm &ﬁf a chemical ?c.t'/(&:,u*’:’/}:?ﬁ;T/.QJ/JTvc)fJc/':f"iﬂ'/u@‘f
coordination? ; '
Neurons \l\indocrme glands Spinal cord Brain
D G 2 B ; A
7y /\-::KJI/G;E' v EJKJ&-’ s
[t is responsible for chemical coordination: "—J'—'»:KJ’VW’[;E‘{
Autonomic nervous _ Central nervous ,
Peripheral nervous Endocrine system
system D . d C system B o . i A
) - system ‘JA i .y S/ 3 2]
VY SEE] Y (ke Ui [
Which organs act as effectors in nervous coordination? "-‘r;—-t'// IV 4 4’:/’@"&%0/ SBLLIIBY;
Bones Ul D Both uss ¢/ C Glands ¥ B Muscles #~ A
Which one is coordinator in nervous coordination? 1;H~?17f4'ufﬁﬁ"3fffJﬁf
Spinal cord Brain Brain and spinal cord Glands
P D , G S B A
L ELs S Ll v 74

bt S SO 2k AT L

B Receptors =~ ¢ A
e bl SIS A2

B Response St vV A

Effectors J ~<-

Stimulus qu:““

e Flobb s S

IIII!1I!IIIIIIIF]IIIIIIrIII!IIiIIJP!IFiI!illItill1IIJ[IIIIIIIIIIII!PII}IIIIIIllI1I
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Nodes of Ranvier Cell body
4 4 D C
{Jc)_:n.jfj.’) (ﬁLJf v

llllllllll

The myelin Sheath is formed by
around the axons of some neurons.

which wrap

Schwann cells Dendrites
: D - C
#cﬂ;‘ v a5
The unit of nervous system is:
Nephron s 4 D Receptors J == C Ne

Axons Myelin sheeth
; B % A
21k ~H
Mo S LSt AL ret b S5
Axons Nodes of Ranvier
. 7 B ) e ¥ A
71K e 13T
%-Jﬁu(ru e/
uron gy ¢ B Nucleus ur-*g:,:’ A

The thread like projections of a neuron cell body 3@2_;;;;;55;J:fyﬁ’l;jffvufw;JdigJ:£L;ij

which conduct nerve impulses away from the cell
body of neuron are called:

Nodes of Ranvier Schwan cells

D .
ﬂf eIy

- » .
L3ef 131 I3

The clusters of neurons cell bodies outside CNS are called:

Ganglia L& ¢/ D  Meninges &57%  C

How many types of nerves are classified on the basis of

property of axons?

Five ég D Four . B Three & ¢ B Two » A
Types of neurons according to their work are: u.?(@'id/fwfchLﬂ
Six # D Five ég # FQQ@ B Three o ¢ A

Which neurons conduct impulses from CNS to
effectors?

dior |

Dendrites Axons
b7 & B - = A

J s 3”/‘5 v
:bﬁleﬁgédngfLUJJ},’.’/EQLKE/J:)J}E:’
Nerves Js/ B Pons :F_L_. A

??Kgﬁjwfu'lfﬁ:)@gd/w#&u;

“\ L

D
The largest and most highly developed pa

called:
Hmdlr%n\a}n J/y'l,

Cerebellum Hﬁ 7
[f a problem exists in the my la oblongata of a brain,

which function of the body M\be affected?

Hormones 7+ B Motor /» ¢/ A

‘O«f\ )
Sensory (- €  Inter £
Q! (&

human brain is :g_bM,ﬂ:igJ}.unj:;,../Kf,béuul

D C Forebrain ../ v B Midbrain ¢4 A

6 s 50 LK Tt o3 e s A S

Thinking Heart beat Body balance Intelligence
D C . B A
PN IS v I =
Which part of a hindbrain controls muscle movements? ?;.t*/d;/faf/d/f,ﬂvuf{@ﬁcﬂ
Cerebrum Pons Cerebellum Medulla oblongata
D C B A
(L 7\ (h,:: v LG sk sl s 4

The part of the brain responsible for muscle
movement, interpretation of the senses and the
memory is the:

?ﬁ‘__ﬂ;.»}(-.::}lJJEJ}IML&JJQY’c&KEJ}/ﬂVc)[E{&L:

Cerebellum Cerebrum Medulla oblongata Pons
D & B _ A
H-’-/;: v s LG sl s dr 7

They receive information, interpret them and

\\\QJdlaLJJ/@f:.‘I/JJ/J/"”IUJ/I,'«//U:’JU/f

stimulate motor neurons:

Mixed neurons Motor neurons

Mok F I I A S S o F Kt S rosd i

Inter neurons Sensory neurons

D C B A
Sug sk e S8 E W Sl
Which one controls rage, pain, pleasure and sorrow? 1§-t‘/ S A -‘:-fVL’fﬁ?(; MG Pessse
Midbrain Hypothalamus Medulla Cerebellum
) D - C B A
O A (74 Us it ’)-’u/:;

lobe of forebrain contains sensory areas that e (& w( L i S rsald e dod......... §es19

lllllllll
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receive impulses from skin:

Temporal J.» D

Vertebral column protects:

Lungs

D

Frontal J /

Spinal cord is the continuation of:

Hypothalamus
7 D

= £

Length of the spinal cord is:
40 cm ¢/ D

Pair of spinal nerves are:
12 D

The myelin sheath is secreted by:

Nodes of Ranvier
D

P S
23 151 I3 4

‘Spinal cord
KLV

Frontal lobe
SIS/}

20 cm

31 v

Dendrites

Occipital ﬁ*ﬁ C
a@ pakcity.org %a
Brain '
. C
Ol
Thalamus
P C
30 cm (.
21 C
Axons
511 .

il P
S

B Parietal J’u;- v A
e b S b0 s

Heart
B U, A
e S L L

Medulla oblongata
B LG ol s fr & .
h;*-J‘rJ Sk /.E:
B 10 cm A
wpe szl L
B 39 A
b A
Schwann cells

B A

}E/UI;'“

This lobe occupies regions of receiving information from skin: <03 k(A d il JJmseld c b

Temporal J.»¢ D Occipital ST C
The nature of myelin sheath is:
Rigid % D Insulator £+ C

The largest part of forebrain is: R
Cerebellum <V

Cerebrum N
D o> C
YA d k/" \@U

D G

Effectors response after receiving information
from coordinator. These effectors are called:

Temporal ¢ J.s*

Response Effectors
; D ; C
SV 3 5
The outer most layer of a human eye consists of:
Both b and c Cornea
, D C
JInlsle ¢ Qﬂ(
The middle layer of eye ball is:
Iris 71 D Retina -+, C

Which part of human eye contains blood vessels?

[ris U /7 D Pupil )z s
Central layer of eye is called:
Iris g #7 D Retina t+, C

There is a round hole in the centre of an iris called:

Parietal Jb’fl/g.. v

Thalangus

P

Parietal J° {!/5.-

:dgtéwf;?‘ﬁlff}}@j‘;i;L%LjﬁdeT/ E

Coordinators

SRS

Sclera

&

Choroid ¥.Y v/

Choroid i.s ¢/

Choroid 4.4 ¢/

:gﬁ:_L"Mﬁcﬁ;.t'ﬁi/lJ:’Jfbg U:UQ‘JJLJ};T I

B Frontal J / A

e Qre b0l = B 22

B  Conductor /& A

e bt e K] 49
Hypothalamus

B u"«"-w:fl, A

:;.%ch_.ur’d/grm&fﬂf

B Frontal J / A

Receptors
B s A
%—Jﬁﬁ:&y}agg{ff&ﬁl
Retina
B ,, A
s _
e Q=3 s WL FT |
B Sclera | £ Al
?u.?&ﬂ%sﬂuﬁﬁa,u}(ﬁfﬂfum
B Retina t+, A |
e QW 7SS FT |
B Sclera | £ Al

Choroid 1y D Cornea {5 L Sclera | £~ B Pupil # ¢ A
The middle layer of human eye is called: 193ME&?»J5"’&3U'

Please visit for more data at: www.pakcity.org
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Choroid ¥4/ ¢/ D Pupil /s Cornea i¥ B Sclera | £ A
The sensitive layer of eye is called: C‘% pakcity.org %‘: c-dM S SFT
Choroid 415 D Iris o /7 & Retina -+, ¢/ B Cornea L.y A
In a human eye, there are rods about ......... lac: LB, L:,/J S ETAU
225 D 200 G 125 v B 100 A
Rhodopsin is present in a part of an eye: B2 s Lo LI sk
Fovea |/ D Ligament =g G Sclera I £ B Rods Ji, ¢ A
In human eye, there are about ......... lac cones: sl h........ LY FTd0
Nine ¢ D Eight #7 G Seven =\ v/ B SiX 7 A
Rods and cones are present on: Lt w0379 5 81
Retina b+, ¢/ D  BlindspotelLiy C Cornea \:.y B Sclera | £ A
| It is the spot largely responsible for colour vision and sharpness: ={—Jlmig/’jfﬂf=-»5ﬂ'—‘d/ufx£rﬁ>n:
Fovea s v/ D Opticdisc C3-£7T C Iris 77 B Blind spot =%k A
The name of pigment found in cornea is: e (bbb d sl LUl te s
Tapetum f“i D Rhodopsin o=, C lodine /37 B lodopsin =47 ¢ A
| The cochlea is present in: A h}&mﬁ:’ﬁf
; None cif these " [nternal ear . M@Hfl\é%ar . External ear 4 ]
_ VA S ai @{@\I@WW S AN
Which separate middle ear from inner ear? X y /f? ol :x.;:_J/@,é‘ Ao
: Oval window s4s sl ¢ D Tampanun{ﬁ” \\5\ Ear drum ¢/ 2/ B Stapes u='£’ A :
The eyes of dogs and cats shine due\@fne layer: =u*dc,c:-md/~fu)u“'{' SurmZ
_ Plueral J.s /@aplcum ﬁ’ iy C Tapetum (‘*ﬁ v B Tempanic .Cvf A [
| 1t is the part of inner ear: :iayﬁg{duﬂ,
Pinna (; D Ossicle f=7 C Eardrum ¢/ 2 B Cochlea ¥y ¢/ A
Decreases the concentration of glucose in blood: h;'-t‘/f/fug/”"/v/d/b’/}gc.ﬂvf
- Calcitonin cf'iu’g D Testosterone s 2#* C  Insulin LS v B Glucagon w1 ¥ A i
Power of speaking is only gifted to: icg-«.?mfdf"::ﬁlbd/iﬁf
Crow Parrot Monkey Human beings
fig D fb ‘ S B e A
| Oval window is present in: @J@JM ......... s X3l
Eye £7 D Internal ear UKJJJJ:’ C External ear uK&:/;: B Middle ear uﬁ}ym/ A
......... is present after auditory canal: e b TL IS 8T
Pupil D Eardrumgsz v/ C Cochlea \f¥ B Pinna (. A
| The deficiency of this vitamin causes poor night vision: ?EJJJ%#}(&ULJJJ‘E’:JK
: AV D B C C B D Al
| Who wrote three books on surgery and diseases of eye? 1J30¢WJ4UKJ§JJ'JX/JJT
: Abdul Malik Asmai D Ali-Ibn-Esa C Bu-Ali-Sina B Ibn-e-Haythem ¢z A
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Gl 4 S v b ¥ &
1| Insulin and glucagon are produced in the: miuwf%wfﬁl
Pancreas Liver Anterior pituitary Hypothalamus
. D - C ; - A
Y X% Je S28 L2 U
1| All of these are hormones except: ey 7y AU
Pepsinogen o“+#=¢' D Glucagon ufz}g C Thyroxin c)’(quB B Insulin ﬁr’t A
{| Controls the secretion of pituitary gland: :»f—t'/Jsfffu&”"/?Jﬁfdfé
Thalamus Hypothalamus Cerebrum Grey matter
% > C B - A

| When human body has low amount of water, then
1| pituitary gland secretion:

Oxytocin
TIST

Beneath the larynx in a human neck, name of gland is:

D TSH

Pancreas Adrenal
. D , C
Jk/%’ J‘:Jii
| Hormone increasing level of calcium ions in blood is:
Oxytocin Paratharmone
b -~ D . C
¢/ !Lf(l ULV 4

Which is responsible for puberty and voice pitch lo
11 in male?

SResye

1| Which hormone produces male secondary sex characters?
D G
ey m

Insulin Progesterone

:J‘L).?ngfdjgrﬁ%émw FJ&&,J(;‘LULJ'-:-@

[nsulin Versopersrin
; B A
J:‘Hi di;::;: (74
:.f_(l:ﬁ:ﬁ;?y‘?iﬁif/éﬁwﬁfgul
Thyroid Parathyroid
B , A
L3 RN 4
S bl d 1o §FTAY v Aeof
Calmtq,mn Adrenaline
m C‘ B A

B

?‘L;:_,;;thﬁd,»ufjufmL'TKu;Ji,,.;_,.:_j,., L

sﬂ«i

Glucagon Testosterone <\/ xk/ Progesterone Estrogen
o D \\5\? C B j A
u[g,( u:/-‘“:‘**" lf ¢ %y s o
; <> v :
|| Which hormone is secreted by ovarw S bl by AT = sl
Progesterone Teé\t’osterone Calcitonin Adrenaline
D <\ C . B 1, A
A 4 s et c/w’tf ﬁt;y,y
| This hormone is secreted in case of emergency situation: =»f—-t‘ﬁ61liuﬁc~ﬂlvd;e/ﬁuﬂkf
Calcitonin pj'ﬁqu/ D Adrenaline dt;;,‘g 1 C Glucagon B ¥ B Pancreas szgﬁ A
H| Testosterone hormone is secreted from: e bnllbe........ Uy s B s
Adrenal gland Thyroid gland Gonads Pancreas
: D , C - B . A
B4 S 22,0 i o )[./E’:
| 1t reduces the amount of calcium ions in blood: «;.l:*/(fﬂ@d/f:f(?fuﬁc)f
Oxytocin Vasopression Parathormone Calcitonin
b - D & C - B ol A
d’)’u’(' ﬁ{,s,’{,s P c/:’u’gt/
The largest endocrine gland in the human body is: 1:“—-1&{@/@}:”2&#%%({&0@
Pancreas Thyroid gland Parathyroid gland Adrenal gland
. D - E . B : A
JL/%’ i{:ﬁi{-’l;dlﬁ 4 ,f.‘-.ggjfudbﬁlﬁ- i‘-fd"";iﬁl
All of the following are hormones except: :zﬁ_rrug;?ml,(u"adjjaﬂ
Pepsinogen *s++s=¢ D Thyroxin J’LJLE C [nsulin ﬁﬂ'i B Glucagon UTEE A

?g.rujﬁffu’?djit.?)ur.al,vu/

Estrogen B Testosterone A

= = = = e = e = = = | e e s ] = e e = = = T e = e e ) e e == = T | T T e e = | = = e e e T e = e = B e = T T ) T e (= T e e e T e T e L e = = = e ) e Y = = e e = T e e = = = (T e T ) = ) e e | I = R e = ==

| = = e T e = e e e e = e = e = = e = = = = R =

| T e ) I e |

I [ (R 1 S I T [ S I [ S R N S N S ) | S N I i ] I T [ N S I L
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AB D D

In every 100 ml of human blood concentration of
1| glucose is maintained as:

80-120 mg ¢/ D 100-150 mg €
| How many bones make our skull?
* 26 D 24 C
| What do some bones produce?
Blood cells ¥ ¢/ D Oxygen df:/T C
1| The bones in pelvic or hip girdle are:
Five &\ D Four Jt C

| In mammals, the number of bones in lower jaw are:

Five s D Four e Lz

/| How many bones are there in appendicular skeleton?

126 ¢ D 124 C
Bone marrow is found in:
Chondrocytes Osteocytes
” D b & C
U'*Lr‘ﬂjb'g S L

i Q\a
1| The part of bone in which blood vessels are preseniﬁgﬁl'
2

@

None Bone marrow Qiﬁ\)

u—"’&[ IJ,J/K 4\(\
is present as a cover on the %ﬁi&%long bones:

Inelastic cartilage

o KBy

D

lllllllll

; ous cartilage

g CE K A6

C

There are also fibres in the matrix of cartilage called:

|
.in the body a% pakcnty org %a

s s i
e b e o bt
K A
:.f_t-w;(’wfﬁ;/&/%u:wo ml L2 Lo
150-180 mg B 180-200 mg A
spuid LA e
22V B 14 A |
sl Ui [
Hormones #»,4 B Mucous "+ A
DAL LR (-
Three o B Two » ¢ A
e St I Sugh e 2 & M
Three & B Onlyone fiiv A H
0o 0SS uad It I
122 B 20 A
e llebls 2
Spon%@ne Compact bone
J‘@\Jw v [T eised | B
el e 2 Lo
Compact bone Spongy bone
um&f ; c)ﬁfuér.:” v .

:ﬁ:.t',»fuﬁfu(_iw.;uuw/ziugfw!f
Hyaline cartilage

CFKPG V

Elastic cartilage

@EJEL-@UJ B

A

et nl il Sl x|

Leukuna ¢+ D Collagen AV C Insulin o2+ B Glucagon v/ 7
Cartilagenous cells are called: =UELM#£@¥JE’
Erthrocyted Leucocytes Osteocytes Chondrocytes ¢/

ks - ks C b b B ks A
u" L/,/L'.Ji u-.' Lﬂ‘)g w La> s u‘ﬁb V!J:‘CK
| Nose and larynx are made up of: Lz Lot
Bone Fibrous cartilage Elastic cartilage Hyaline cartilage
D : C ' B ; A
S TF K A o BIN TE KLV
| The hard outer layer of bone is called: =+3M:Jd'343’u(di
Epidermis Compact bone Cartilage Spongy bone
D € : B *
S g Jreed v ] o1
Number of bones in both feet is: %Jﬁ;lﬁgfuguﬁusﬁu}u
54 v/ D 22 G 126 B 108 A
| Babies are born with soft bones: =+Jmlﬁd/uxér£u:urmimﬂ~.-ﬁ%é
300 v/ D 266 L. 206 B 200 A
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1| Which bone is a part of appendicular skeleton? ?.%-,Juj"-‘-‘é);f@;id,;gu[ I
_ Pectoral girdle Sternum Vertebral column Skull :
- D : G . B A
J3/ JJF.g- v (}‘ Hb/d/;:,-'.! di‘«:,)"(
The smallest bone of a human skeleton is: :?dgjy{c,gjygdu.
Vertebra 1 s D Malleus <=~ G Incus U1 B Stapes TV A
The biggest bone is found in our: :é.d,;dj:c:,qd/j'"&éulﬁl
Waist &2 D Leg &t C Hand #| B Thigh (¢ v/ A
Number of cranial bones is: :.T_.;iﬁd/ug,if-/
80 D 22 C 14 B 8 A
The mature bone cells are called: :f;-_rw/:'/ .+ 8;&5;
Bone marrow Osteocytes Monocytes Coenocytes
D b b C b = B b ” A
s 2 Tl o Vel % el 24
Which one the following have exoskeleton? ?(;_.tﬁu%fguffaﬁul
Reptiles Mammals Birds Arthropods
g D C B = = A
Fla she? iy A BTV
In adult person skeleton has hard bones: :,T_JﬁJIJJug;Jufuuligb{l
106 D 206 ¢V C 306\ B 406 A
The end of muscle attached with moveable bone is: @\ < ﬁ;vwﬂ?tﬂfj?ividé_f}'ﬁl/ﬁ/
Extensions f‘fu’gl D Insertion ¢ /l v G¢ /i\ \Q\[g‘lexes /gb B Origin Jm A
The hard connective tissue is: Q\f CZJ :ﬁ;_ﬁ}gfa‘f’;;ut‘_{j@ﬂ
Tendens ¢»* D ngament@ C Bone vy ¢/ B Cartilage éJ;K A
“-\Q\C' \/ — l
The end of skeletal muscle attachemfh immoveable bone is: :‘ga;&amrf&;dé_f ¥ 4 /,-,‘ﬁw"t{/"’” L}*&é i
\x\\v |
Origin ol D {%ihsertlon 8 /l G Belly J‘j B Staticend &t A
Deposition of uric acid in joints results in: :‘:‘:.J}ﬂj;%:::_i.ﬁczi-jlbﬁ{’;ﬁux;;
Rheumatoid arthritis Osteoporosis Gout Osteoarthritis
S e D 5 C 7 B b2 g s ik A
' I/Jlfe’qu} J-/}J;J:J:M}I "4 YR ]
Osteoporosis is a disease of: :%.dfkg._gu"ug_jx?n
Brain JE,L; D Stomach Jm» K Heart JJ; B Bones d/u—.a’f% v A
Generally gout attacks the joints of: :‘E*J/ B g ui"!mc;? 511 dq"
Hinge L D Ankle £ 2 C Hip L2 B Toe Lux.éfjuit v A
A disease caused by the shortage of estrogen hormone is: Qc.dcfd.fk‘ Jufc;,ufd/um s A
Osteoarthritis Rheumatoid arthritis Osteoporosis Gout
b oo D i C ; B 4 A
TN BT sl SN BT X I s 0511
A proc.ess | in Whll::h genetic rnatenal of one :.;.t*lkﬂz;t?gfﬁjd’jﬁmgm;fu{lJu’-dju
generation is transmitted to next is known as: :
Circulation Reduction Respiration Reproduction
o D & C & B & A
c)"“")’// ‘_)J:IEJ w;"l.—f,)) u)/.;ﬁ/g.f 4
Essential process for continuation of species is: :.?.deﬂ/'pééyéf&f
Locomotion D Respiration G Cloning B Reproduction Al

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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CPY'J'/)J\ L:)J&"J;L::'J j,{ uyh/g.J v

The simple and most common way of asexual " .
P y :,T__,‘,i);_/[-’ru,uru;ta;,_‘_w(g’(j;/};;f/?:_lufk/;-é

reproduction in bacteria is:

Budding Regeneration Multiple fission Binary fission ¢/
£ D R ‘ Sty ; T A A
Process of budding occurs in? ?%r@LgJini
Amoeba L D Rhizopus =71, G Hydra .4| ¢ B Paramecium ff‘" z A
I::all::::n method of reproduction in sponge, hydra and :‘L.J;/!’ﬁfgc}igs/g.JJ/:’?d_JUfﬂﬂcjﬂ,u?kcpgx_‘:"
Budding Regeneration Spores Fragmentation
i v o O3 G e . ﬁ{?j A
In which type of reproduction method, buds are formed? ?ujijéutfﬁﬁu:uﬁ,)ig"}:@j
Binary fission Budding Fragmentation Regeneration
S EF V £ v - J“)i ’ F A A
Rhizopus reproduces asexually by the process of: :4‘*@?&”4;0’?%&0@{"5‘)
Spore formation Corms Budding Fragmentation
S g pif - .3’ ° ‘ﬁ{i g
Budding is found in: R e blll3 AEEL
Yeast o ¢/ D  Bacterial 26  C Plgga%}ﬁH B Amoeba A
Binary fission is seen in: o Q}\ .O I :‘:‘:_J@J.L;uﬁdj-’g
Corals /.4 D Hydra 1.4 Q “(@i% P\‘lzanaria L= B Yeast « A
Pollination is the transfer of pollens fron{\@ _ﬁ;.lmfﬁfu’g;j/c__ﬁ'dz
Petal to sepal Sep 1$ etal Stigma to anther Anther to stigma
o . o Ok b Sthor |0 v (B
A corm develops into new g}ﬁfz plant. This is the process of: _.{_L"Mffﬂugﬁ’ L' syZ L w”;pf,{!
Gametf)gemfsis . Meiosis ; Regeneration . pvrzlg)ztga;i:;foen )
VLol Sl A6 i b, o
Growing a new plant from any part of a plant is called: :.:ﬁ:.t'M.'ngKi_i?iu;g_JjaazJ-{J(zia_:g
erngjztga;ti;en . Frag;r}?tion . Regefleration . Budding 4
F5 1 o e 2 93!
Which one is an artificial vegetative propagation? ?ﬁ:_J/»'C“%.;_j{':‘faJ 0 5 PU e ol
Grafting S v D Rhizomes »s71 G Corms 7.5 B Bulbs :2* A
Which plant reproduces by stem tubers? et/ ks 4:.;4;51,?455.#* Lag:L'u,'(
Ginger /! D Potato #7 ¢/ C Garlic o7 B Onion Ji; A
Example of stem tuber is: :c;;_dlf:‘J ,»:x:"{.ﬂ’
Potato #7 ¢/ D Ginger sl i Garlic J”' B Tulip .Juf A

The method used for cultivation of sugarcane is: (@ pakcity.org %o e Pisd_nJe S8 8L

Spores J.x D Layering £ / & Grafting &/ B Cutting & v/ A

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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'
Source of budding in Garlic: u,rL/cP/h,g.ug;@ﬁ
Stem tubers Jx:f(f’ D Corms 7.4 v L Rhizome (71, B Bulbs ;2 A
Vegetative propagation in mint takes place by: :¢J@9Sﬁﬁfﬁé}ﬁ';¢ LA
Suckers .~ ¢/ D Leaves & C Corms 7.4 B Rhizome (171, A
This method is used to propagate peach and plum trees: e Al n e LJ/-T/E-:;,; S Mz a1l
Corms .5 D Bulbs C Grafting &/ ¢ B Cutting & A
Female reproductive part of a flower is called: :ﬁLrM.ﬁwmwg
Corolla Calyx Gynoecium Androecuim
1f . A viEs P A B
Calyx is the outer most whorl of the flower and bears the colour: :‘Lrﬁjjb’u’ml%iﬁf‘}mwﬁﬂ
White - D Blue i C Green = v/ B Red ¢ ~ Al
The unit of corolla is called: :;.&g(ﬁ:/
Sepals A~ D Stamens 7= C Petals /% v/ B Carpals 4§ A
The second whorl of a flower is: :c.:;.l:'ng'/i/.?ﬁ/ﬂKJ%
Gynoecium f-f%dﬁ D Calyx J@/ C Corolla vs./ ¢/ B Androecium (':-"’" Y -\
;l;hcealtllégiwhorl of a flower in which stamens are present - +rﬂﬁu31ﬁ;£ffuﬁu3ffﬁ/f'gd%
Gynoecium Androecium Kcgrfic)\hl-fl?;w? Calyx
(f?dg : (’f i) W | \E\Ovu:/ B i Al
[t is not a part of a carpal: L/% ?ﬁ;_u.‘f 2K LK
Style Je D Stigma {{\\U/ G Anther /;"’ N4 B Ovary $.f A
Male reproductive part of the flo 5®alled :g.t'M.e?:”/fa’:/g.;)KJ;ﬂ;
Sepal J& ngvary Ssssl C Stamen f’ v B Carpal J:M A
The female reproductive organ of the flower is called: :;.rMJiTﬁ/;;@ja:LKJ:%
Petal J* D Sepal J& C Carpal J#V B Stamen o=~ Al
Ripen ovary is called: < 3 Gmmdnd |
Nector U~ D Fruit J# G Fruit £ v B Seed & A
From which part of the embryo root is formed? feFle &Ly A
Epicotyle JtJ B D Radical 4, ¢/ C Cotyledon u,f._JJK B Plumule Js A
Microspore in plants is also termed as: el /;:K},sx,:‘u? LI U Uy
Mega spore Germ nucleus Pollen tube Pollen grains
s ) S . L. i #/ SV .
The scar present on seed coat is called: :‘;_c-Muwm,»{,:Jg
Hilum fl( v D Ovule J1sf C Integument &= &1 B Micropile Jfg._,u? L A
An angiosperm seed consists of distinct parts: WLl nZ ﬁr&@&;yg{{"q
Five &/ D Four C  Threev B Two » A
The optimum temperature for the germination of seeds is: :.‘LL")’EZ./;;{}?T“&LU?":ZJ@
350C-40°C D 30°C-35°C C 250C-30°C ¢/ B 200C-25°C A
O e
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Corm is an example of: o@ pakciw.org%o e JeLie o |
Garlic 7 v/ D Potato 7 C Onion Ji | ® ‘ Ginger ! Al
Seed absorbs water through: :;J_J,;L,gz_/.fjg&g@
Testa &~ D Hilum H’flz C Micropyle J/,lé:/?' .¢ B Integument »= A
The outermost whorl of flower is called: =§-t‘&*ﬁ/.f’?&r/5:—.._.wwﬂ.§
Corolla vs./ D Petals /% G Calyx Jﬁ")/ v B Androecium ff-; 824

The plant in which vegetative propagation occurs by leaves is: :La.t'ﬁu‘k'%,;%c‘i_ﬁLUﬁ-ufU%;J{u:

| Bryophyllum fl{té:f z¢ D Potato #7 C Ginger B Garlic y7 A

There is a scar on seed coat where the seed is : . "
L,E’%’j/f% L t'}fi*f.'c‘.‘..ﬂg)d/dn.ﬂ@é;iid@b'g,{:&fg‘

attached to ovary wall is called:
Apicotyl S & D Plumule J» s C Hilum H’l (V4 B Radical JQ,‘;; A

Example of rhizome stem is: e JOLIEE P71,
Garlic J’J D Onion J, (i Potato #7 B Ginger R4 A
These are horizontal underground stems: :u_,fi.ﬁz.j; W PO
None uf."' Jf D Suckers ;& C Rhizomes »7i. ¢/ B Tubers J.¥ A
From which part of the embryo, root is formed: ?z;_Ggi’:f ,@u// ¢
Hypocotyls J’w/gg D Cotyledons u,,i,JJK‘ G Plumlf@xé, B  Radical J@.;}_J v A
Every mature ovary is called: m\)\ @ | :{-JLL:( S99 =% 12
Sporangia s s D Flower J+# k/’ Fruit /4 v/ B Seed & A
The transfer of pollen grains to stigma is ga :;tﬂtﬁfﬁétﬁ’s’ﬁfu’;
Pollination Fertlhzﬁ oh h Reproduction Germination

Ol ’ (@ﬁxw - s ’ g .
The latest method of VegetaWe\propagation is: :.»;_L"M 3 }’;_a:g(cf":%,;}ffs
Cloning &+ v/ D Cutting & € Bulbs ;2 B Budding &% A
The fourth whorl of a flower is: :(;l,f%ﬁ@:%
Corolla vs./ D Gynoecium ﬁ:;:df ¢ C Androecium ﬁ.’" vk B Calyx u‘y/ A
The example of flowers which pollinate through insects is: :q_.d@d/ub{LbL/ffd;,g;}Lm}?
Rose 1§ ¢/ D Willow C Hazelnuts J« B Grass uW A
The vegetative propagation in onion takes place through: :,g_u,@,meK#%é;fé,ubg
Corms pf D Rhizome (:}Ju G Bulb _} ¢/ B  Stem tubes J:fﬁ" A
The reproductive part of a flower is: :‘f_,ﬁ;ﬂ?,@;&_;g
Root 7 D Flower J#£ ¢/ C Leaf (. B Stem ¢ A

The middle part of carpal is called: :.f_.ﬁ&y.mw;;?
Ovary (s D Stigma ¥ C Style J& ¢/ B Filament w16 A

In animals process of reproduction without
fertilization is called:

:é_tlkffgdi(jﬁﬁjd!jé_ﬂ/ﬂ Z:ﬂfﬂf/ u:us.ujlfr

Fission Tissue culture Partheno genesis Parthenocarpy
X D » C ¥ p, B - A

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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Male gonads are called: Wk
Testes #~ ¢/ D Eggs « &I C Ovary (s B Sperms 7« A
Formation of gametes is called: :.:‘:.t‘ll:fb}b’ﬂf
Spermatogenesis Oogenesis Gametogenesis Sporogenesis H
U g U ol IV " U .
The production of sperms in testes is called: :q.t'Mb‘:Kf,.{J}“’f
Spermatozoon Gametogenesis Spermatogenesis Oogenesis
gl 2 ‘ L/""}r:’f . J/");-‘-"x:-’ v . u’"'“}‘ul .
Sperms and fluid is collectively called: :wféﬁwyéi’:@m}'ﬁ
Scrotum ( W D Follicle &4 C Semen g~ ¢ B Hormone y#/4 A
After fertilization zygote is carried to: e bllUs......... s ..:.,;?Upz C BRI}
Uterus Fallopian tube Vagina Cervix
SV . e C Sl : oo A
External fertilization occurs mostly in: ‘X:+&ﬁ5 u}'wg;u’i:}’ Wi f ;Jﬁ
Dry environment & " Moist environr.nent . Hot environinent ; emi(:;ljg'lcent "
s ey sl i ko
External fertilization is found in: o "3’\ :‘:;_SL?JW?:?U,%}J;/Q

\ Z
l:[hf}l;ns Justit B Fishes uﬁux}?f v A
Q{\Q\}_ N

\.

Internal fertilization takes place in: 57 N> :,:-_Jﬂ-é 2 i WIS £

N
Reptilla u‘) Y D Birds (% u,ufa
According to UNAID 0.1% of adudxg&mtlon of

Mammals " D Birds Ufussy

Frog J* S kx B Fishes Jtus¥ A

e Qe LSt ELasd0.1 ol Gk LZUNAID

Pakistan has disease: f\f*‘
T.B 4 D Q}/ Polio ;J:J C AIDS JiI v/ B Hepatitis uf“/e'?l,: A
The cell results by combining sperm and ovum: e B e Ll g
Nucleus Zygote Genes Chromosomes :
Vol E v . 2 . st "
An example of endo parasite is: :+J@J¢g’v'ﬁ:kl
Plasmodium 5+ D Lice J*» C Leech £ B Mosquitoes A A

Thesperms enter into a sperm duct from
epidedmis, which is called:

w2l TS e g L p i /P e Uiiis

Vas deferens RSN Seminal vesicles Semen
, D tubules C B A
J A v Sty B Ko J s
In how many days embryo develops to offspring in rabbit? ?uzé’_gfutu;?:é‘fbfé.;.gﬂ RS 7
25-30 days D 30-32 days ¢ C 20-30 days B 30-40 days A
[t is diploid (2N): i (N2) 471k

Endosperm ¢ ¢34 D Zygote =& o C Spermecell £rs B Eggcell i A

Which animal is not able to reproduce during the months of summer? oL S PSIpu L3S SeUd

Dog (" D Monkey .4 C RabbitJ/7 ¢ B Cat ¢ A

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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The process in which genetic material of one

2#;.L"U¢'/:‘Ll:'lggyJd’jd/ua.ﬂ.g’lﬁ;d’j-_{luﬂu)'Jju

generation is transmitted to next is known as:

Inheritance Reduction Respiration Reproduction
= D e ‘ P ; F g v .
Transmission of character from parent of offspring is called: :r;_mfmﬁu:;m&y#;.w,
Reproduction Regeneration Mutation [Inheritance
v 39 720 o SR . S ’ =Fis o .
These are the units of inheritance: : BULKI S B
Genotype As% D Phenotype ..,fLy.:’ C Alleles & B Genes =2 ¢ A
[t is a heredity (genetic) material: :gﬂ[ﬁ"'m.{l
Rrna DNA ¢/ D tRNA rRNA C mRNA tRNA B null mRNA A
The process of formation of protein is: ::L:.L"MJ‘FK&_LU&;
Replication Mutation Duplication Translation

“ D ; G L..KCL B &L A
ST l.’;‘:f.‘ s m"u,;‘/

Genetics is the branch of biology in which we study: :UJL/;JW(IJJ?;.@L*}MJ&J{;J@

Evolution +6. D Inheritance &*., ¢/ C Fossils ## B Functions /-3’-/’ A

An organism expressed physical trait, such as seed
color or pod shape is called its:

-,f_.JM/fJﬁQjJK@W’M.ﬁ?‘df:i.ﬂﬁw&/xu@bg

Physical type (:’ Jw2 D Karyotype _#ty S € Phenotyp&,ﬂ# v B  Genotype -2 A

Chromatin material is made up of: ) {”\{Q\i O :f;_mt:mc;’u/
DNA and protein RNA and protein QE;\ ~< DNA Protein
b D B b A
s sl et 1SS v u”s/ﬂla_.um \5\7 el s
Location of genes on chromosomes are\%ﬁed e VA !
Genotypes 5% D Pb@ypes .,_,ﬁty;’ C Alleles A B Loci J6Y ¢/ A
NN —
Genes consists of: - AL
DNA ¢/ D Protein s, C mRNA B RNA A
Inherited characters are called: :u_rJUJ h:.,gaﬁ' (5l
Fertilization o=7/° D Genetics Jéf G Traits U/ v/ B Genes =2 A

In h bod lls, th b f pai f . ,
B SN RORy T WS GERIREL W peEeee e Al IR L pyrvs /S S gt L7 LU

homologous chromosomes is:

25 D 24 C 23 vV B 22 A

In a nucleosome, DNA is wrapped around a protein u?%”/f"f rﬂwg;/’.ﬁdf,,;,.g;.wdsfuf@é}f.g:
named: ¢ . ..

Hemoglobin gkt | D Histone ys»7 ¢/ C InterferonusZz B [nsulin ﬁr’r A

DNA wraps around a histone protein and forms a Lo ttf pJf Linetath/Lfsyyimaipss

round structure called: Q w,

Phosphate &2 D Nucleosome (’!’!;K)f v C Nucleotide ¥t:fy B Polysome ¢»Jy A

Model of a DNA structure was presented by: u@ pakcity.org %o ?.L_Ij,t-i_(_/}:;&_ands
C.D. Buffon Charles Darwin Watson and Crick Mendal
P a uurjgj;g - S itoPn o : Jdw 2
James Watson and Frances Crick proposed the ?gu?-Ji./;Kz_Ic)_jldiLJ/u";»).ijuf.?

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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structure of DNA in:
1954 A.D D 1953A.D v C 1952 A.D B 1951 A.D A

In the structure of a DNA, adenine of one i"l."x.ngJB'uf&lu.?tf:}’tJi’Enguchi{jfégrwdi
nucleotide makes a pair with which of the

following nitrogen bases? s duizdL Lt F iU

Uracil J"1y D Thymine sdev  C Cytosine o221 B Guanine 15 A
Between adenine and thymine the number of hydrogen bonds is: St stil R s gl s Z 3 sl 4l

Eight #7 D SiX # C Four /& B Two s ¢/ A

......... hydrogen bonds are present between cytosine and guanine: § L st P i\ e n L L1 et #4 |

Five ég D Four /4 (. Three o ¢ B Two s A
Formation of messenger RNA (mRNA) from DNA is called: :,:-_t*LLg'/L‘«‘:K RNA (mRNA) 2=« DNA
Translocation Transcription Transduction Translation
=y 0 S . o i 8 Jﬁuii A
The alternate forms of gene are called: :w%ffuﬁjﬂJ:giJﬁu?,{l
Characters Multiple alleles Alternatives Alleles
7 7 - i - il . Ak 4 a
Alternative forms of alleles are called: u}jd/ s qu"J;L}J Jf Sl
Gametes u“:ﬁ-f D Chromosomes 73/ C DNA ‘;_Jqfd; B Alleles &1 ¢/ A
In DNA nucleotide, ......... joins with guanine: \)Qr - > ‘:_éb;ljjwf T PO Un b 11 S5
Adenine o §4/ D Uracil J71.¢ G Q\{;’[‘hymlne o4 B Cytosine &£ JL- v A
The specific combination of genes in an 1nd1\f Uafré known as: :.f_t'ua/,ﬁzu"’ﬂ?{%uﬁ;}..{l
Heterozygous Homozyg\pﬁ> T Genotype Phenotype
i 2 g{&@ 7 ’ i .
Z&yas:ﬂzaiael\l}:;?arance of orggl/\V such as colour and height, a2 0 i larded B okt ‘jf
Genome (¢ D Karyotype ..?.:-’If;j/f C Phenotype h:_.ftx.’ v B  Genotype A% A
Cytosine always forms a link with: :%Jt«.!}ﬁ%gy’f A
Uracil J71y D Guanine 1/ ¢/ C  Adenine o §4 B Thymine ¢ A
The location of gene on a chromosome is called: S o L2 L s/
Locus J’/ P4 D Trait &,/ C Nucleosome (rx,ng B Genome (¥ A
The part of DNA which have instructions to ”?’”*E"Y-&Ldﬁ’gd}ﬁ%up”;-g’J.ELU’?“’“KDNA :
prepare a specific protein is called: :+VMUﬁ
Chromosome ¢»+s/ D Gene ¢ v/ C Alleles ! B Traits J*/ A
The changings in DNA are called: :J,EJMLJQ,Q‘JDNA
Zygous Mutations Heterozygous Homozygous
A5 . X4 G i i B Asn o
Albinism is a/an ......... trait: I Ll
Incomplete dominant Co dominant Recessive Dominant
s M . asteaded . Vs . M -
Dominant alleles are represented by: e bl fB S I

Please visit for more data at: www.pakcity.org
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Numerical numbers Roman numbers Capital letters Small letters
= Ur sl 2 e U o : eV 3 e sl F &
Scientist who developed law of segregation: o@ pakcity.org %o Lﬁ/u’"(/c.;l A NaF s
Charles Darwin RC Punnett Gregor Mendel John Methew
B e . a8 T < Jr S B ol A
On which vegetable, Mendel carried out a large number of experiments? ?4¢g/f'}u;gjLJiérad;{u/
Cabbage g D Potato #7 G Tomato B Gardenpea v/ A
How much pea plants Mendel used in his experiments? e e g1l d/’l‘f‘/ungi/i*éf
27000 D 26000 C 29000 v B 28000 A i
The term true breeding means: i A E b s ST
Different Same Heterozygous Homozygous
_il* - G L o ‘f?f},s H B u’?i}y‘.ﬁ' v
Which organism has short but fast life cycle by Mendel? ?f.;fﬂ[hf;;.if{fvhjfugﬂﬁ{?(fi}:w/LLJJ&A
Tulip ¢ D Onion Ji C Pea » v/ B Ginger Sl A
i((:::;lsesdi:n which one character is studied at a time " W ordit ol oK § LI a1, T,
Back cross Test cross Dihybrid Cross Monohybrid cross
JSISL D SIS = A3 ’Q\Jﬁ B SO AT 4 A
;[;hcea;ee}zlresentatlon of a genotype in the form of a characteus\t@ AP Lot & L
Recessive s D Dominant &oss gﬁ’ enotype u_,-U'r’ v B Genotype A+ A
Producing the normal body pigments is an %@Tﬁle of: :%J@QQJ:EJHJJL‘
Chromosomes #»»s./ D Tralts\q&\/‘\ C  Genotype #s¢ B Phenotype st#v A
The term artificial selection waﬁ\e}tﬁessed by the scientist: ?31:/ J,w;ufﬁpu/ ke § 3§
Abu RayhanBairuni <2 C.D. Buffon Theophrastus Aristotle
Gs mllz sl - S . U1 . £ .
Who proposed the mechanism of organic evolution in 1838? U K3 A0t A1838L
Buffon Charles Darwin [an Wilmut Mendel :
Ok V By g V - LT ° Ji A
In artificial selection, the bred plants are called: oL :5_1;3!;/ Li S el o3tz § 5
Varieties or cultivars Lichens Mutation Breeds
s J H ‘ S " Vs -
How many years, Darwin traveled in HMS ship? ?gjﬁ{.HMS}szd/.Jin.c)uﬁ
Seven =l D Six 7 # Five &L ¢/ B Four / A
Theory of natural selection was presented by: AN NI
Malthus uﬂ’g b D Darwin @15 ¢ L Lamarck Ay B Aristotle »-f A
Such plants whose breeding is carried out are called: :Q,?E_MLL?élsjjédezé.}{u
Insectivores }m&? 'I D Carnivores .Jm&»? G Breeders Ji. B Cultivores };HJK v A

Which of the following is the abiotic component of the ecosystem? ?,f_uﬁzjfgglgﬁ’,ff;utdjau

Oxygen STV D  Carnivores s34 C Herbivores imdr B Producersir g, A

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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Organisms in the ecosystem that are responsible 2 : , ;
e : ¢ . P :u,??_.l.’uUb/f..:.eigJ-"?JLu;,fﬂt?.u!uu;fﬁ;ulpuuﬁf/:gl
for recycling of plant and animal wastes are: ' '

Competitions Decomposers Consumers Producers

At . s v . i . Sy .

Which one is a tertiary consumer? ?g./g?’/d/"}lfufc;wul

Lion /2 D Wolf | & ¢/ C Rabbit ¥/ B Frog S A

Decomposers are: :u,,?;..rjr,.,fdi

Fungi and bacteria Animals Mosses Algae

L2536 . e ¥ . oo : di .

Which animal is a primary consumer? ?‘;_/g;ﬂ/dfl{,;ﬁtyvgyf
Fox Lion Frog Grasshopper

$ 4 ’ iz : e B UV A

Which one of these is not a tertiary carnivore? ?ﬁ_--u.f m&;ﬁj A rul) e e o

Leapord (¢ D Snake - v/ # Tiger £ B Lion / A

[t is the example of a tertiary consumer: :;I:_JL:"»J/QJ,)”/J/"'}

Frog D Lion /2 C Snake L B Wolf | # v/ A

The smallest level in ecological organization is: Y74 e LTI SRS

Ecosystem ﬁ",{. D Community u‘:;‘/ G Specw\g(&}i v B Population ﬂgg A

Inter relationship between organisms and env1r0nment \sc\cz{ led: a.l:*uvf JJ"? Sl L JolslUs £l
Morphology §##4 D Ecology Goski Lk/’ %hysmlogy SJ7 B Mycology &J¢0 A
All the ecosystems in the world together nﬂ&* u;i.l:;fJ,;;,-bJ:f)f’"’;fr(u"Lg;
Habitat </ D Commuq@@ C Biosphere #¥L B Population u:-“[ Jd A
Biotic component of an ecosy,gt‘éhi\rs :;.;gjfi,{ﬁ"’,fl
Plant sy ¢/ D %\\/ Air 1 C Water ‘315 B Light =~y A
Which one is not biotic factor? ?§_uﬁ;;?Jfgvuf;J:ul
Bacteria | 2& D Soil §* C Animals s B Plants <4 A

An abiotic component of an ecosystem is: :ﬁ;./ﬁgjﬂgiﬁfuyglu/

Light =2y D Decomposer ;.J;,f/di C  Consumer ,## B Producer /45, A A
Which of the following is the abiotic part of the ecosystem? S L L I iyl e Uty
Soil D Lion /7 G Goat S.4 B Grass U4 A
For all the living things the source of materials is: :ﬁg;gﬁﬁ e L Usi sk i3
Sea s+ D Air s C Earth @2 B Sun &u» ¢ A
Primary source of energy for all ecosystem is: :ﬁ;yﬂ;}d/g(&)léz:f”ﬁ(v"
Nutrients u:‘:'*}:f D Fire J7 C Sun z.» ¢ B Electricity g~ A
Basic source of energy for an ecosystem is: :.;_,;J_dejgmﬂﬂiéf”yffd)
Water d D Sun gur C  Animalse B  Plantscy v A
Charles Elton developed the concept of ecological pyramids in: :gﬁjﬁg;;nfg__ﬁ;,ﬁg_ﬁu%g
1927 ¢ D 1926 L. 1925 B 1924 A

Please visit for more data at: www.pakcity.org
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Naturally found graphite and diamond is: c@ pakcity.org %.: ey S 1l b2 .&M&;ﬁ
Hydrogen ¢/ 1,47, D Oxygen u’:/ T - i Cal‘*bon O A4 B Nitrogen ¢#s#t A
The basic trophic level for all food chains is: :a:;.t'ﬁJr’..bﬁ/lfd:‘L.&Ky"ﬁ*j}('Vﬂ
Decomposers ;J;:f/dj D Reducers J ~44. C Consumers /g}‘( B Producers /45, ¢/ A
Conversion of nitrates into nitrogen gas is called: :+3M J');:uf: Jf s F e, m Fl
Nitrogen fixation Ammonification Assimilation De nitrification
J""gc)"ﬁﬁt‘ ’ d&”*'ﬁ"a:.f' " vl . f'@'/’td v .
Formation of nitrites and nitrates from ammonia is called: ::.:'_.JM/ d;g'd/ m j—’wuf”r Fla by
Assimilation De nitrification Ammonification Nitrification

o Y u/@""’l,d_a e ‘f&«'g:'ri - J’@‘ -

The total amount of living matter in an ecosystem at any
time is called:

Biomass ULl ¢/ D Energy 4./ C Foodchain %5 B  Foodweb . A
Big size mammals which eat honey are: B2 M LAy
Elephant d; L D Badger # ¢/ C Camel < B Rabbit /¥ 7 A

All carnivores’ animals are: :u,:ré'_m}t_p.:m&;b/ru"
Pathogen (¥ A D Predator 24z ¢/ L Host ._,<r B Parasite &4\ z A

About 250 years ago, the population of the world
......... L2 L1822 -2500
approximately ......... millions: \j& Lf{ U“L /’u’: J e /aJ

’\a
700 D 600 ¢ g%\ B 400 A
The non-renewable resources are: p B\J;\;f U.?wa-»y,x:-”" JGt
Soil & D Wat@‘ié“/ C Air Ix B Fossil fuels /£ )7 ¢ A
Materials which can again be reu :ugiwcwém‘i}%;;»uﬁ? }P.}f
N
All o v/ D <)~ Paper if C Glass 2# B Plastic &1 A
Which form of nitrogen is taken by the producers of the S AU Lz l;‘/fujﬂfu’-:}’tj/ﬁqlf"/ﬁ
ecosystem? ’ ' ‘
Nitrates Nitrites Ammonia Nitrogen gas
b D b/ C B r
X% Sl L o SR
In Scotland, in 1997, what an embryologist lan Lﬁ,@féﬂgu@&&:ugféﬁ)gﬂuguff1997¢i§,~’¢,$
Wilnut produced from the body cell of an adult " .
sheep? bzl e & Ol
Buffalo Cow Goat Sheep (Dolly)
. D ) C B ey A
The pain killing chemical formed in brain is: :;;.ﬂjﬁ»ﬂlaiﬁ.d@b
Beta endorphin Thymosin Interferon Insulin
; D ; G : B . A
c)},.r::t'if; v/ Vg’ Ol Yad ﬁﬂi
The human genome project started in: 5l f ok K LUl
1993 D 1992 G 1991 B 1990 v/ A
The complete map of human genome was published in: :fgé&ﬂ&‘gf;ﬁezuu:
2003 D 2002 ¢/ C 2001 B 2000 A
The work of genetic engineering was started in: H5GTEPE LJ}!:._,@ -

Please visit for more data at: www.pakcity.org
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1955 D 1954 C 1944 ¢ B 1943 A
Human insulin was firstly prepared through bacteria: :fJJg%;qéjjiggg-dﬂrJu:
2002 D 1990 G 1978 v/ B 1970 A

Which organism is used in fermentation for the
preparation of glycerol?

Aspergillus Spirogyra Saccharomyces Bacillus
D C , B A
UJ..;./;:'-I !,’;lgr:..';.L; /':.”LBLJ/..C v .L./j"gujdf I
Lr; glycolysis glucose molecule breaks into two molecules o Bl S il K Stk
Acetic acid Pyruvic acid Lactic acid Formic acid _
D C B A
el SV e SA:
Used in the production of vinegar and beverages: :‘LMJWU:J;QJ.,:;’;:!I/

Eclyric acid .,tg,ru@/ﬁ D Glycerol J: ~§ C Ethanol J/¥%4 ¢ B Formicacid 426 A

The source of lactic acid is most of the: :;mu,g;pjb’jf*/’iaw@

Protozoans 7155, D  Bacterial z&¢/  C Algae 0 B Fungi d¢’ A

In biotechnology, the production of a product by il oo 8 £ il A G A
:4;_'_“ P Rbr e L le Pr il LE L

the mass culture of microorganism is called:

Fertilization Fermenter Mutation Fermentation
Ao V #2) - #e B e A
The industrial product produced from asperginus is: Q\Q%S :.;‘:.:,J/is,;&‘y sl b2 _bie g &4
Formic acid tu{.6¢/ D Glycerol s /:.f Q\X}%ﬁﬁlanol AU B Oxalic acid 2017 A
Microorganisms used in the production of fos%i(g;%ld is: e AL Jplufjbf/ﬁufta:

Bacillus Streptoco@ > Saccharomyces Aspergillus
EAE D Ladie P
The main source of all types Qﬁ%entatlon is: :wq;deQ{F)JC)ﬂ
Chromosomes Mlcro organisms Alleles Genes

s - AL J M B 2 A
Which of these is an anti viral protein? ?ﬂ:_ujfu;dfbéé'l..gldufaufw
Interferon os2 £ ¢/ D Insulin o2+ C Thymosin v»¢¥ B Urokinase <y A
E- coli bacterium was made in: :m.:.ﬁg;:é/;é Ju/dl
1970 A.D D 1977 AD ¢ G 1975 A.D B 1980 A.D A
......... is an anti viral protein: Lw:/; d}f:@u{l:
[nsulin o2+ D Thymosin v+#¢  C Interferony:Z# ¢ B Urokinase »<¢.y A

The hormone which may prove effective against brain and
lung cancer is:

Thymosin ¢ ¢/ D  Thyroxin BeL; G Ligases Zdu B Insulin ¢ A

:,T_.EC:»:}'"}#_SU& Lﬂf&u;ﬁgﬂléb}?u;ﬁ@u:

The enzyme which is used to cut the gene of interest is: e bR A2 2 Ziﬁécﬁ’ﬁﬁ;
Lipase Amylase Ligase Endonuclease
’ D ’ C > B * A
QU A A sl
The enzyme used to dissolve blood clots is: :‘L(f 39 sk IL F
Thymosin ¢ % D Lipase ey & [nsulin ﬂrji B Urokinases 7"{%4 A

Please visit for more data at: www.pakcity.org
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The treatment through genes is called: D@ pakcity.org %o :ﬁ:,t'LL:(t/&w.’j_JJL%
Physiotherapy Radiotherapyr Chemotherapy Gene therapy

4 ’ d 52k ) S - 2

The foot and mouth disease in cattle, goats and deer is: :;;..d.;kg/.:»ufu,q;;rug_/fcux?r

None % 35 D Fungal J{f’ 0 Viral J/I» ¢ B  Bacterial f 2¢ A

The organisms who's genetic set up has been
changed are called:

LW e §G 8 i B L b

Re arranged %%78, D Transformed it C GMO ¢ B Hybrid 5 4| A
The enzymes which are used to join genes are: :‘gt'ﬂdhﬂz’!éé';fﬁf O f.’r; |72
Endonucleons Amylase Ligase Lipase
- D . C = B P A
D1 AU pay il

Human insulin gene was transferred into: :_@’J“‘wdf,ﬁrmul
Algae ufgf l D Virus sy /s C Bacteria (=L Ai';? v B Yeast (Lo A
Insulin is used by patients of: gl SR L ﬁ;ﬁn
Diabetes 5 ¢/ D AIDS J4f & Cancer B Hepatics u:*’.gj A
Bacterium (E-coli) which prepares human growth WU beat gy AL s Sl FLans S 26

hormone was synthesized in: | -
1980 D 1910 G 1970 B 1977 ¢ A

= Q\{{D
Interferon are ......... proteins: f_ @ " SBTIL s ssnne 2
e\

Anti drugs Antifungal Qf\{\@:\ Antiviral Antibacterial

Z e D Je < f,\> T i B 53 A
T A Jf’ufv! Qﬂﬂgg/ S o J_/_.}Qu"-f
TN
)
The big source of energy for all ecosyste@ff%e world is: ‘e Bile K i Lﬁ"’:{!(v"ég;
~\ OV
Moon st D o, re ) T C Sun v ¢ B Bulb _4 A
; , /“SQ < : Ze

Single cell protein can be ob@v{ﬁed from: :ﬁ;_dm)"bw;édff’
Insect <y ;.-f D Cow < 2% » Algae .:..(_fi v B Bird «s44 A
50 kg of yeast produces protein in 24 hours: ?é_rﬁ%gf;éu;/uﬂu}524wflf550
250 tons ¢/ D 200 tons C 150 tons B 100 tons A

The algae produced in pond are producing
......... per acre proteins annually:

40 tons 40 D 30 tons 30 C 20tons20¢ B 10 tons 10 v A

Zﬂ&ﬁﬁ%&%ﬁjééuv&lzélﬁdgﬂb

The drugs which do not occur naturally but are
synthesized in laboratory are called:

Q?(}M:rgﬂ(}bdﬁ?ddfiHJngJka{J?ijJﬁ?&Lﬂlu

Artificial drugs Synthetic drugs Antiseptic Antibiotics
ol (§ 2 & fﬁ-_ﬁﬁ' v . .,/fi':(jf-l . uffg@i .
Streptomycin drug is obtained from: :?J@Jfbuféu;.;
Plants (s D Bacteriacl ¢ C Animals<yuse B Fungi :.:db’ A
The drugs which are used to reduce pain include: wJ@JJm‘,{_ LL/J::L;;:?_mg,;ru

Sedatives Jx i+~ D Analgesics JQ‘-'-J"»! v C Vaccines j-..’f: B Antibiotics o ¥ l,(,?-l A

The pain reliever morphine is made from: :.:;_JI?JB;UQJL%JJ
Hashish =7 D Marijuanatiz§s C  Opiumus ¢ B Heroin &z A

Please visit for more data at: www.pakcity.org
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The drug derives from minerals is: oy IRV o W )
Tincture iodine Antitoxins Aspirin Morphine

LTV ’ G : LAY ’ F A !

':El:liee éi:rugs which reduce the possibility of infections on skin are - 3 ¥ ( ,J/.:.,I/’:Q'L L‘)ﬁ'@'{,ﬂf’ﬁ&knm
Vaccines Antiseptics Sedatives Antibiotics

D f by C 5 B R A
./;({, SEE v Ik Bar AT
Which scientist promoted the idea of sterile surgery for the
first time?

Alkundi Joseph Lester Al-Bairuni Alexander Flemming
S£01 - Moz v 5 Qs 2 D G B i
Penicillin was discovered by: ST u:{/‘/"
Alexander Fleming Robert Hook Darwin Lamark
‘3_._,@,:‘5.;};7?1 v H & fidiin . ool . oL .
Drugs (medicine) derived from minerals: :,gﬂu{fﬁdui_ﬂd"w;agw
Tincture iodine Antitoxins Aspirin Morphine
LETEV ’ G : LA ’ A !
Study of composition and medical applications of drugs is called: :wjd/fytbfﬁg,uu»‘*ig?ﬁm:fwf:,gm
Physiology Pharmacology Blotech,n ogy Mycology
Sl D GA G v - giﬁ?f»u ; s A
The drugs produced by pharmaceutical compamesgﬁ@; :.f_.qﬂju:/,@'d/ U
Antitoxins /-fw' | D Aspirin ¢ &+ Q\f @ lodine ¢i¥7T¢ B Opium ! A

Sir Alexander Fleming was awarded the f}?e}prlze in: oAy S b B
QA ONS

1960 D S 1945 v B 1940 A
Medicines which induce sed@ by reducing 1rr1tab111ty .

s O el isd S S e oI5 57
and excitement are called: <K Ot Lasl s {U... 336 (575
Vaccines ;‘-..’f,a D Sedatives. i ¢/  C Antibiotics ¥ :fl,d;'-l B Analgesics J@J, A

[t kills microorganisms present on the nonliving things: ?wJJL;(ﬁTJ/?L)JZ}C;f?IUL?é.
Antibiotics Antiseptics Antibodies Disinfectants
= £ D b T C £% B J_J;;CET A
u'(;;g&l J%:u*'l b Ol WY

'ff:;fn Za;ist?:ic known as digitalis is obtained - IvP e ey Bt ol S

Fox glove §/5v D Memosa -+ & Brassica ys ~ B Acacia £ A
Which of these addictive drugs are also used as painkillers? ?L,gJﬁJLJ'J,;M .L;;:éLc_;gsjr;jTﬁujf

All can be used ¢, D Hallucinogens =24ys C  Sedatives zi B Narcotics Sk A

The drugs which affect sympathetic nervous system are

:u:{JMﬁ&ﬂﬂﬁ!jléﬁzdjjﬂf&!iﬂ'”

called:
Antibiotics Hallucinogens Sedatives Narcotics
S g ik C i ' oLk .
Mescaline is obtained from a plant: ?%Sﬁfbc;/_:{fujdbﬁf
Brassica k1. D Maize §& C Cactuso’“v B Opiumesd A
Psilocin is obtained from: ?;.:-..JﬁJ" L::La_;;;u’( Bl 4"

Please visit for more data at: www.pakcity.org
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Mushroom r',e/"'” v D Bacteria | 2% C Funaria | £+ B Algae f_l A
This group includes mescaline and psilocin: x?wJﬁJL’idf){wﬂﬁ&;utT,fu/
Vaccines Hallucinogens Narcotics Sedatives :
;’-.rf, . RISk v . Sad s . ¥k A
This drug is obtained from plants: :93;¢J"bc,u;:;;bﬁ5:
Tetracycline Sulpha drugs Cephalosporin Codeine
S v S . oS S E 3V .
Which drug is obtained from plants? ?%SL?J J* Lu-__uu{{u;gwf
Opium Cephalosporin Penicillin Aspirin :
i v . g P : Sk | LA .
[t is a hallucinogen: e F L]
Codeine /35 D  Morphine¢f4  C  Aspiringe¥ B Marijuanatizies ¢ A
The drugs used to reduce pain are known as: CAG Ve laidind /] ‘[.w
Sedatives Antibiotics Antiseptics Analgesics
Ik D Dol dns . S ' S A
The drugs that kill or retards the growth of bacteria are called: :u,?&uffasuz[jfuku.‘f&l.;@ A—"%;?..mguru
Antinarcotics Optibodies Analgesm Antibiotics
AP 2y & e P sage 8
Antibiotics inhibit or kill the: f:i </© WAl 2 onr® ¥ [.Jé'l
Yeast o D Bacteria | 2% v/ k@;&\ Viruses b4l B Worms 7. A
Edward Jenner introduced vaccine of whw}{”dbsease" odis _:'Jwafgsg‘_ Ll s2ink
Malaria | 2 D Hep\a&@u‘“? G AIDS" J4 B Smallpox J/gdk- v A
Which one of the following dliseﬁsg is cured by vaccines? ?,;_.L"L?y’,:,u.:*f,@upmu;/c.u:ui
Malaria | 2 D Smallpox iwev C Cancer B AIDS 4! A
The materials that were weakened pathogens: (e s S 2 Pk s

Quinine o/ D  Vaccinex%+  C Analgesic /% B Antibiotics /¥ A

The pain Killer is called: Wi =B
Vaccines */’-(f: D  Analgesics uf‘fJf*r C Sedatives #i ¢ B Antibiotics U w&_, A
Expired drugs cause damage to: Zuj&_tgﬁ’éduﬁaguld/ﬂéq?uléﬁ
Stomach #r. D Kidneyss—:/ v C Lungs fUs 2% B Heart ¢ A
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Please visit for more data at: www.pakcity.org




